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—. Fill in the blank in each sentence with a word or phrase taken from the box
in its appropriate form. (£10%)

1.

2.

10.
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—. Complete each sentence with what you think are the most appropriate of
the four choices given. (8214, #£10%)

1. [Al [B] [C] [D] 6. [A] [B] [C] [D]
2. [Al [B1 [C] [D1] 7. [A] [B] [C] [D]
3. [Al [B1 [C] [D1] 8. [A] [B] [C1 [D]
4. [Al [B] [C] [D] 9. [A] [B] [C] [D]
5. [Al [B] [C] [D] 10. [A] [B] [C] [D]

=. Cloze. Decide which of the words given in the box below would best
complete the passage. The words you choose can be used ONCE ONLY. Fill in
blanks with the LETTER. (¥£10%)

1.

10.

Pg. Read the following passage and choose the one that you think is the best
answer. (Bfi2%, #E104%)

1. [Al [B]1 [C] [DI

[Al [B] [C] [D]

[A]l [B] [C] [D]

[A]l [B] [C] [D]

[A]l [B] [C] [D]
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F. Explain the following sentences in your own words. (£15%3)

1. (3%)

LS E X, 5520 Version 3.0



Zib: PR H"a:

ERAEABHETXE, 5830 Version 3.0

I




75 Translation. (#H25%)

1.(293)

2.2%9)

5.2%9)

ERAEABHETXE, 55473 Version 3.0



gik: B4R .
6.(15%%)
+. Writing (#£20%

S

=

el

PR HA X s, 8500 Version 3.0




%

I

o

Xia, FE6TT Version 3.0




